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Il Semester B.Com. Examination, September/October 2021

(CBCS) (F+R) (2014 - 15 and Onwards)
COMMERCE

Paper - 2.6 : Quantitative Analysis for Business Decisions - |

Time : 3 Hours

Max. Marks : 70

Instruction : Answer should be either in English or Kannada.

SECTION - A

Answer any five sub-questions from this Section. Each sub-question carries
two marks.

N

b) List any four methods of studying variation.

1. a) Define Statistics.

c) If X=12, Z = 13 find median.

d) Write the formula for range.

e) What is base year ?

f) Write any 2 objectives of tabulation.
g) How do you calculate ‘Mode’ when it is ill-defined ?

SECTION -B

Answer any three of the following. Each question carries six marks.

(5x2=10)

(3x6=18)

2. From the following information prepare a frequency table, taking class interval
of 10 — 20, 20 - 30 etc.

48 | 30 | 31 18 | 25 | 27 19 [ 20 | 19 | 12
16 | 28 | 50 | 43 | 54 | 36 | 28 19 | 16 | 18
42 | 46 | 38 | 34 | 51 42 | 28 | 32 | 36 | 41
34 | 36 | 37 | 18 | 19 12 | 16 | 41 46 | 25
19 | 24 | 35 | 38 | 39 | 42 | 51 44 | 13 | 18
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3. Compute mean wages of workers from the following data :

5

Wages (Rs.): | 50— 100|100 - 150 | 150 — 200 | 200 — 250 | 250 — 300
No. of workers : 8 12 14 9 7
4. Calculate the standard deviation from the following data :
Wages (inRs.): | 100 | 200 | 300 | 400 | 500 | 600
No. of workers : 8 12 20 10 7 3
5. Calculate Mean deviation from Median from the following data : ~
Wages (Rs.) No. of Workers
Less than — 10 5
Less than — 20 13
Less than — 30 20
Less than — 40 32
Less than — 50 60
Less than — 60 80
Less than - 70 90
Less than — 80 100
~~
6. a) Find X if CV=40% SD =12.
b) Find co-efficient of Mean deviation, if X =120 and M.D. = 12.
SECTION-C
Answer any three questions. Each question carries fourteen marks. (3x14=42)

7. Draw a histogram from the following data to find mode and calculate mode :

Cl:

0-10

10-20

20-30

30 -40

40 - 50

50 - 60

F:

12

14

20

16

11

9
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8. Compute Fisher’s ideal index from the following data and show how it satisfies

TRT and FRT.
2015 2016
Commodities| Price Quantity Price Quantity
M 8 80 10 110
N 10 90 12 108
O 16 256 20 340
P 20 420 24 456
Q 25 550 32 704

9. Compute Karl Pearson’s skewness from the following data :

Weekly
Wages : 40-60|60-80(80—-100({100—-120|120—- 140|140 - 160
No. of
Workers 6 10 18 30 15 12
10. From the following data, calculate quartile and its co-efficient :
X: |10-20{20-30|{30-40|40-50|50-60|{60-70|70-80
12 25 55 120 60 30 13

11. Following are the marks obtained by two students Suma and Sudha in ten tests

of 100 marks each :

Test : 112|134 |56 7| 8] 910
Marks Suma: | 48 | 72 (39|46 |80|62| 30|42 | 65| 31
obtained by g aha: | 40 | 56 | 44 | 35 | 80| 72| 48 | 65 | 75 | 49

Find who is better scores and it consistency is the criterion for awarding prize

who should get the prize ?
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(3x6=18)

2. B3NS BR&S0WOT PTOTIRBF Sob TWeIOIR) BIR0R, SN @g3030msd 10 - 20,

20 — 30 az0.
48 | 30 | 31 18 | 256 | 27 | 19 | 20 | 19 | 12
16 28 50 43 54 36 28 19 16 18
42 | 46 | 38 | 34 | 51 42 | 28 | 32 | 36 | 41
34 36 37 18 19 12 15 41 46 | 25
19 | 24 | 35 | 38 | 3¢ | 42 | 51 44 | 13 | 18
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L 50 — 100 | 100 — 150 | 150 — 200 | 200 — 250 | 250 — 300
BT K 8 12 14 9 7
4. DOFE, BTV FORLRAD.
3R (3A.n¥Q) : | 100 | 200 | 300 | 400 | 500 | 600
&850 "o, : 8 | 12 | 20 | 10 7 3

5. 8359501 BREEc0T FOIRO BVSODR) BRGOTE ST ForBHROD.

300 (Sa.neY) : FIQ0F BT Kol
gog 8@ — 10 5

i:v*o@! 3R — 20 13

$08 38 — 30 20
1}&03 R — 40 32

6;03 &= — 50 60

808 38> — 60 80

8,08 88> — 70 90
808 8230 — 80 100

6. a) CV =40%, QOFR B =12, X ?

b) om0 BEHRE = 12, Booxo

=120,
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81 3913 SRR Sheth Fer eugox. B3 T 14 oz (3x14=42) v‘
7. 552,32 C3800R) IR wabegaR RThss BT FE B0,
Cl:l 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-860
F: 12 14 20 16 11 9

8. 139N RO YROS STBF Ag 08I FoRBE000. &t Bert TRT 38 FRT
TOBNRIR) BHRRPRBB0md Zroedz.

2015 2016
SRoried 33 IRP 33 =R
M 8 80 10 110
N 10 90 12 108
0 16 256 20 340
P 20 420 24 456
Q 25 550 32 704

9. B3NS TROFNP0T BT LONT AT DRSIBOD ABMOITRR, FOBIEBOD.
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40 -60

60 — 80

80 -100

100-120

120 - 140

140 - 160
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10

18

30

15

12

10. 83 39NS BR&SCWOT BROFF 3 D30T, =0 9030 RBROEIBR, BOBIROND.
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10-20

20-30

30 -40

40 - 50

50 - 60

60 —-70

70-80

F:

12 25

|

55

120

60

30

13
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